Regenintensitat nach Hoérler und Rhein

Eingabefeld
Resultatfeld
Solver

nach r und Q aufgeldst:

Jahrlichkeit z 2 Jahre 5
St. Gallen St. Gallen
Ortskonstante [ 12 12
Jahrlichkeitsfaktor h(z) 1.3 1.8
Ortskonstante G 117.7 I/(s ha) 17.7
Ortskonstante B 16.6 min 16.6
Ortskonstante K(z) 5021.5 I min/(ha's) 6738.2
T [min] r(z=2) r(z=5)
10 189 l/siha 253
20 137 l/stha 184
30 108 l/siha 145
40 89 l/stha 119
50 75 lisiha 101
60 66 l/stha 88
70 58 l/siha 78
80 52 l/stha 70
20 47 lIsiha 63
120 37 listha 49
150 30 l/siha 40
180 26 l/stha 34
210 22 l/siha 30
240 20 l/stha 26
270 18 lisiha 24
300 16 I/s/ha 21
T z2=2 z=5 z=10 z2=20
[min] [I/s/ha] [I/s/ha] [V/s/ha /s/ha] |
10 181. 253. 06. 360.9|
20 A1 187. 20. 252.8|
30 106.4 142. 65. 88.5|
40 7. 115. 4. 52.0
0 = 99. i
60 66. 89. i 2
70 59. 78. 92. 4
80 53. 71. 83. 6.3
90 49. 65. 76.4 7.
20 40. 53.. 62. .4
50 34. 44. 52. 7
0 30. 38. 45. .7
0 X 34. 40.! 47.
40 4. il 36. 41.8|
0 9] 28.. 33.4 38.0|
00 5] 27. 30. 34.
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Summe: 1436.72
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—e—12=2, vorgegeben
—e—2=2, berechnet
z=5, vorgegeben
—@—1 =5, berechnet
=10, vorgegeben
—e—2= 10, berechnet
2=20, vorgegeben

—e—2=20, berechnet





